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M.A. (Part II) (Fourth Semester) EXAMINATION, 2018
ECONOMICS
EC-405 : History of Modern Economic Analysis
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
NB. .— (1) Attempt A/l questions.

(i1) Figures to the right indicate full marks.

(7i11) Answers should be precise and to the point.

(1/v) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]
(1)  Explain fully contribution by Mundell on International Trade.
(i7) What is the main contribution by Paul Krugman for understanding

the concept of ‘Globalization’ ?

2. Answer any one of the following questions in 500 words : [20]
(1)  Critically evaluate Life-cycle theory by Modigliani.
(i7) Explain fully the contribution by Meade in International
Trade.

P.T.O.



http://www.sppuonline.com

3. Answer any two of the following questions in 250 words each : [20]
(/) What is impossibility theorem by Arrow ?
(i1) Explain classical approach inflation.
(i11) Explain revealed preference theory by Samuelson.

(/v) Explain Portfolio theory by Tobin.

4, Write short notes on (any four) : [20]
(/)  Game theory
(i1) Impossibility theorem by Arrow
(i11) Welfare Economics by Amartya Sen
(1v) Revealed Preference
(v» IS-LM model by Hicks

(vi) Nash equilibrium theory.

(AOd wHiav)
q% : || ae TeRUT TTOT @ 80
o — (/) W WA gred
(if) ISEHErS FE YU U SFiferrd.
(7)) IW AAH 9 YT THET.
(iv) 3ERds d9 gask Al Hlal
(v) TRV @ TUSH TEdfIeh el

1. UOeUHR RIVAR TR T SW 500 I fewr [20]
() AW YR GEUld Hed I Afe TR &
(i) SRR’ Heheql GO |AT0A Uid STl hE FEH Bl 2
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2, TAGUH DR TRl FAE IW 500 I fomr [20]
(7)) HRveeT Aren StaTaw fagae fowers goad e wa.
(77) SOWRE MR fawaE Wed drRH wWe &

3. UOOUH HUEE gE WAl YAHT 250 IR SW few ¢ [20]
(1) o= vl Taga divmr 2
(i) AR FEdE AR §RIGH TR .
(ji) YFAAETE W uHdr faga e &
(7v) el JEEE fEgi e w

4, qreerd 2 ferl (IRl 9r’) [20]
(7 7a fagm@
(77) or=n sweEa fagi
(ii7) SAAHTA HARRT ST
(fv) W THd
(v fem= IS-LM gfdam
(vi) =1 uged fagm.
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